((~

Y’-?«,c\o : ci e,x"c-tvuc:ltto “ {

\(v'w\q. o—% \ouwck u\\—\wc:‘f ot
tihwaee D0 \& \na—\o,-'ﬁu,cd’

tiva 2240 v X 30 .

Wity =

Sw\ts\;u \Ao\wo\mw \oo.p\«(ww o)A i
Q= \A,uk\’axw * %_G}Lx\'?:% |

@ wit .0y S\

U lt,oo) o (or towe ox\at o .oqu\uL-u
Vowmd, comel. D) W /

s Wit ¥y = \(o‘a.o\o‘ ry& oenNueX Qx“c\wé\\w\

>

x
@ o= @) Wy « %c’ux x|

Solettow




L\

\EKW\P&;“ C \u~~\¢- Lse aq(..,u w W\

\otxy = fr . AW = axt

)

\.&\x\ = Vo lx) —atx) , e?}cm = \ctx\*-&bt\

oo
> \%{,}L\o\& S T Tuwme -Z—KA:L\«LA%CH :
o

\.&—L&\: L(B'é\" ' qu},x\: ([S*é\* ‘




kY

\(4 %(_; S%L{\éxg—'

= walk =\ ( Svaren %‘\-WU‘M\

5] = E%\a\g e

= -a
| A Y=
/

/ C erbw ex). ok — \%«3&* \\
Prp e e AN \

W
’wfa“\r -&(‘LM\‘: (%\ \J ™ >/O



stefangeritz
Sticky Note
HERE IS A CALCULATION MISTAKE !!!


